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Electron Configuration Classwork
A. Write the complete electron configuration for the following:

1. Na: \ﬁa &éa e ?“ 33‘ — "

2. Pb 15 ds® 2p¥ 35° 3p% Us? 34'° UpY G52 Yd© Spl 58 yf5d" bp

3. sm |2 &s” pP 3s? 3pL Us” 3d'° Yp¥ 552

1 U IS225200038° 350 Us? 30 byl S°Ug"™ o s F™ 8" by 75”5
5. N:_13% 3s? @p? '

6. Ag: _15* & 29 35* 3w us? 34 Upl G55 Y44

e

8. Ce: 32233 p° 352 3pb s 3410 ,b o5* Y5, b (s34 f! §d!

9. cl:_157 a5 Ryt 35 3P6

10.Hg: __ 187 25% Qpb 352 8ol fs? 34Y Yp 55 Y05,k w*q@"*ﬁd "
11. sodium 152 25° Qp\o 3

12.iron 153 522 ple 35 3pb U 3 4%

13. bromine 152 5% Ap¥ s® 3p¥Ysd 210 | |9
14 barium 182 5% ¥ 352 2p% Us? 340 Yp L 652 4d S0 (g

15 silver 15 252 Qpb 357 3pv Ys? 34y Ss* 4

B. Identify the following elements:

16.1s°25°2p° 35°3p®4s? 3d" 4p*: e
LY (gops!
18. 1s°25°2p° 35°3p* 45 3d"4p® 552 4d Hp® b5 4% | l 0
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17.1s°25°2p° 35°3p® 452 3d" 4p°:




4)  radium | Ra ) s 2 _
5)  zinc (AN Y 3d"°

D. Determine what elements are denoted by the following electron configurations:
6) 15°25°2p°3s*3p* S

7) 1522522p63523p64523d104p6551 Kb

8) [Kr]5s?4d"5p? e

0 9) [Xe] 6s°4f*Hd° % 0 S
10) [Rn] 7s°Bf" i Y)

E Write the full electron configuration, short-hand electron configuration, and fill in
the orbital diagrams, for the following elements.

1. Nifrogen Sa As? Ap 3 l' ;)Ba P 3
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2s 2p 38

2. Chlorine 3 352 A £ 352 H S CNC’B 3S 2357
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4s 3d
o) Vorodin 153232 300 363 300 Us2 343 [ 4 4533 43
ML) [0 0 ) [ [T T
Is 2s 2p 3s 3p 4 39

7) Copper_15° A3% ApY 352 336 LI5S 3d9 (A Ys® 34 ¢

W n wud 1 2w 2 wa e

s as Ap 3 3p 4y g T T
8) Oxygen )39 35° Q)‘f He QSQ .. y

e 77

IS ds QP

o) 1ron 15 53 Jpk 352 3,6 Ls2 310 [ Y2 34
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Electron Configurations, Noble Gas Notation & Orbital Notation

Part 1: Write the electron configuration for the following elements.

1. Fluorine: \5 2 QSQ ap S
2. Vanadium: \sa AS ag‘ﬂ 353 3 '2“’ L,YQ 3(‘13
3. Arsenic: )Saasa a!)b 359 BP_b LfS > 30‘ = L/F3

4. Llithium: )32 Q5!
N

5. Silver: )53%392‘0 3¢ 3p" s =+ 34 /¢ L{pb Ssalh:\q
J l
6. Yitrium: 1S% 352 §pb 353 3 g 3 3d'"°Ypl 557 4Hd
| 3
7. Antimony: |§° Q5% v 359 L}Sa 3d 1 Ljpe Gs ° 4 lo SP
\

8. Hydrogen: |3
-_— OO

Part 2: Write the noble gas configuration for the following elements.

9. Chlorine: CNC 38 2 3 3
10. Zirconium: CK"’} gsg Hc] J

11. Oxygen: E HCE s QP H

12. Magnesium: LJNC k 3S 8
13. Tin: _(_‘)(r] S ‘;ﬁ J'° 5Q ?
14. Xenon: __ | Lv ) 032 44" Sp‘”

15, Ruthenium:_[: LV} 659 4 c\ 9




:..: .‘ 4 part3. Write the orbita| notation for the following elements

1. Calcium

A A vl gy ﬂ T4 AT (LAY,
1S A2S QP 3 P 3d qp 5 s 4.

3. Nitrogen |
o 117
s as ;lP

4. Aluminum +3 ion

4 W B _
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K jl: v ﬂzﬂ v wll _ W 21
o3 P 33 ‘p 7N 30‘

6. Zirconium +2 ion

W v WD N wLE 4 wa BBl I

B9 33 3 s 3d o




